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Alcohol Testing Program

Date In ‘(/"?L' /‘

Date Out C?'/;qll (1

“fShip Qp/u OH/D Qcmi Qe

a
Performed By "9 \_

Flow Calibration Peffpgied By

Intake Performed By/‘\"\/ ¥ Quality Checks
QO _Registration ~—— LabTempoc__ 1. (g E Flow Calibration N/A” £/ Y,
Annual g Breath Tube Screen Flow Calibration plete ‘ E D
O Return from CMI 'ﬁl Replace External O-Rings Flow Column # g ;
O Return from Enforcement Instrument Set Up Verified a Sthyg —17mne, o) < 017
Electronics R-Value a 15L/m|nhO$ M LE
Q Other ? Flow Verification (L/s) 0 30L/min- 103!‘%‘9(} B
Visual Inspection: Flow Column # A TPIO5 | O Rvalue O.gra
% Case &% _Handle 32mm . | B&F 6 (.139-.169) | Q Post Calibration Verification (L/s)
Dry Gas Holder 7 Feet 36mm _ | u 1 (.156-.190) Flow Column # _
X _Keyboard/Plug _ZZ{ Back/Plugs s3mm 33 (228-.278) 32mm (139 - 169)
_ screws tight _“ Breath Hose | _» 103mm 4 (.447 - 547) 36mm (.156 - .190)
Barometric Pressure Check 53mm (.228 - .278)
Other Equipment: GaugeID#_dESY I 103mm (.447 - .547)
Q Power cord Stability Checks Maintenance  Performed By €
O Printer Cable Simulator Serial # Lot #/Exp g Battery Replacement
@ Other e B 0.05 iptenss: 2071671D Dry Gas Regulator Replacement
) G207 [-2¢5-1C] | | Q Breath Tube Replacement
0.08 e [201107€ | [ 8 Other
Notes: G349 1- 25 -] | Quality Checks Cont. Performed Bv@
0.20 200 | | Simulator Temperatures °C
G AY0Y Y_C/Q: l(.‘_]’((’} External Digital Therm. ID#: 20050
0.08 DGS N/A o 2o 0¥ u\ 34°C +-.2 Serial #: SD¥7 (2
-a0-] W 34°C+-2 Serial #: §__Qj_]_d_
= ﬁ 34°C +-.2 Serial #: 2 L
Calibration Adjustment Performed By _ 7S\ Department Inspection Performed By _ 3>
U Calibration Adjustment N/A 78 Barometric Pressure [8) [5 Gauge
? Calibration Adjustment Complete ‘ ID# 2F 'j 2] el Instrument
arometric Pressure Gauge (014  ID#_ 2(o“]35
Simulator Serial Number | Lot Number | Expiration Mouth Alcohol Solution Lot # 201 —C
0.000 Glelo A | N/A N/A Acetone Stock Solution Lot # 0|1 A
0.040 <SDlo IS ilo {SQO |0~ g l_ i? Simulator Seria{ Nuf‘ﬂbEE
0.100 SDWoI2 [ 7060 12-19-19 ?-00 SDIOY
- = nterferent = b (DA |
0.200 SD\D(‘ I'MQ‘O ::3?’3‘{‘}"} 0.05 D%tgg
0.300 DR\2NS [ /10%10 | (R-19-f5||[ 008 S 10[3
0.080 DGS | N/A 451565042 10-5-11 ][ 0.20 SD34933
Post Calibration Adjustment Stability Checks
"Simulator Serial Number | Lot Number | Expiration Attachments
0.05 S039(, X | QD101 D[ 7-25-19 Form 41 | Calibration Adjustment X|%.
0.08 SDIOVS 0 (107E | 1-25- [E?f g Pre-Stability Tests - Post-Stability Tests
920 s$D2A933 [200701¢.] F-24-1G ||| 9 Flow Calibration Other
0.08 DGS N/A f\e‘(ﬁﬂfzﬂﬁoq 9-92-1% |

Notes/Suggested Service:

7@ Instrument Complies with Chapter 11D-8, FAC

Sendi I\JCI 4’0 ?&{IUI& L(LQ 'hJ Db WELR O instrument Does Not Comply with Chapter 11D-8, FAC
SLLP %! U\ l S55UES : O Return to/Place into Evidentiary Use
(" Al /r‘)c Q< ( e f / / a0/ £{ Remain Out of Evidentiary Use
U Conduct an Agency Inspection Before Evidentiary Use
qlaofin
Date

' Quaw Control Review

Revised May 2017
DI-IP52017R1
FDLE/ATP -048
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